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)] THE CHATIRMAN: 1In Paragraph B.
2 MR.BROOKS: Yes. It should only be on a
3 population basis unless the classification is also to
‘ 4 be the same that is utilized if needed to be utilized
[ for withdrawing powers from the county for the purpose
8 cf granting them to a regional government. There is
7 one situation where classification would be needed in
a regard to authorities and regional governmments that is
9 to withdraw powers and that provision takes care of
. 10 that.
11 THE CHAIRMAN: You are hanging an awful
12 lot on a pair of paventhesis,
13 MR, CLAGETT: Where are the parenthesis you
» 14 are speaking of?
15 THE CHAIRMAN: Paragraph B,
16 MR, BROOKS: That is the connection of vhy
‘17 that was in there and the problem that Mr, Sykes
18 raises is the problem for that provision, whether it
19 is there or not.
20 THE CHAIRMAN: Why wouldn't it be soluable
g 21 by the method he suggests?
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